FHEAR—LERATEF-—ER

SHS5E7B1BIRE)

ik EEBHREAR—L DIFEH
Y—EXRFETHERITEEDEHROAE 3
MEERDEEE! (3%¢1) EER
FRE He BT AT L2234
=% e B
BAsREAH FR30E 8A 8H
E I ARES/ ARTE K1) (9 YAZC 9 HA
= [EEFROKR) < =
ﬁﬁAE—ﬁﬁ i3 M
h | NEERO—HE i3 M
® EReoRenE "
ABEES~DMA &
¥ & i3 M
A&EFIAM (%3) +HER = : 80000[H.~ A]. &= :90000[F.” A]
RE +HERE : 24000[M.~ A1, {828 :27000[M .~ A]
EEE +HERE : 23000[M.~ A1, {822 :30000[M.~ A]
NEEH =P
BrE 33000, A
FBKE EHEIZED
zom | [ A
Ekee iz | MEETIGM B=
BOTHE | EmBROEE(KA) @
EEEEEOH N -1RIEZNOER =]
EEBHEORBORE REXHEE) i KL DA R OERIKFIE AR
KRABODEERVEHR ] 460078 (  2BftE )
| |EESESREOLH B HREZORE( )
B wzoam B HREBORH( )
B | mmsmis oo eg 5 |deEs0R4( )
QT e———" B HREEORE )
(154) 2EEHEAR—LBE~OMADHE &
ABRRERE (ABROEH) 60m Ll E. ENEE. ENWNE
&= 1= 8.12m
Z [xmae = -
D |BKRE (2 ASE) kS 10.83m
E SIRE (4 AEBE) 1%E 14.44m
BHRE  ( AEE) £ mi
H | BENK SR AN RS R i3
D [xssmmamm =
& | RV 5—HKdE 3

HEDONE T —ERFTEXDIESE

X1 H—ERAMEFHERMTEEDEREZ(TTVSIEHEANR—LERS
X2 H—EAMESHMERMTEENEREZ T TVSEREANR—LOHATEA.

X3 REKHESERG

X4 NEAMO—HERUABHAHLIONEY —CRISHRIHAROENERLBOERERA,




